Probability Cost Probabilty*Cost Effect Probability*Effect

No complication 4 — 0.398 6907 2749 0.794 0.316
Cardiovascular complication% — 0.065 8855 573 0.604 0.039
Traditional .Stroke Q — 0.005 704 38 0.444 0.002
Other complications 4 — 0.403 8273 3334 0734 0.296
Death 4 — 0123 9174 1187 0 0.000
Fluid treatment

Total 1.00 Expected cost: 7881 Expected effect: 0.653
No complication Q — 0.639 7534 4813 0.794 0.507
Cardiovascular complicationg-] —s  0.041 9452 386 0.604 0.025

GOHT .Stroke Q — 0.003 831 26 0.444 0.001
Other complications Q —» 0254 8599 2259 0.734 0.186

Death Q —» 0.063 9801 621 0 0.0
Total 1.00 Expected cost: 8106 Expected effect: 0.720

Appendix 1

A decision tree is starts with the decision (rectangle) between the two alternatives followed by
a circle (a chance node) where alternative events are possible; these are illustrated by
branches coming out from chance node, representing the clinical pathways. The branches are
ended by triangles representing outcomes. The pathways are mutually exclusive and are
characterized by the probabilities; the sum of probabilities following each node is 1.0. Each
pathway is associated with health care costs and an outcome (QALY). The expected costs and
effects are based on the summation of pathway values weighted by the pathway probabilities.



